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(a) Explain four challenges that ma

tviem wered when installing a cost mmu“?ﬂ?
(% miarks)
(b)  The following information relates to Nairobi Enterprises; ot oy N
A5 M
: . $°
Receipts of materials: —8
Date Quantity Cost per unit
2016 Ksh,
June 2 600 4
4 400 _ 5
16 500 6
24 500 7'
._‘“‘ ‘ o«
v, Issues of materials:_ g
2016 Quantity
Jure 10 500
%0 300 Q
30 600
Prepare a stores \edger account for the month of June 2016 using the First In First Ouy
(FIFO) method of Siock valuation. (32 marks)
(a)

Mala Limited manufactureg products under Batch No. M25 in department X and Y.
The following costs were ineyrod:

Direct materials Ksh 450,000
Department X: 300 labour hey, s at Ksh 400 per day
Y: 500 labour hoyry o, Ksh 300 per hour

Factory overheads are absorbed on Iabqur houry g the rate of Ksh 100 per hour in
department X and at Ksh 150 per hour in depan
15% of factory costs. -

Meny Y Administration overheads are
Additional information:

The company produced 1500 units for Batich No. M25.

(1) Calculate the cost per unit.

" “A%omgg ) advise
P ffer or not. -
on whether to accept the o

the management on

(lzmud“\
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(b) § :.plmn four factors that should be consudered before choosing the rethod of hve g img
overheads to cost ceniresy (% mark
3
o 5(3) The following snformation was extracted from the books of sceonmt of Hive
Pl Manufacturers,
T . ot v
w . {-w‘ ‘ v o Kah '
‘T'u\' P Direct matenals -/ ?‘/.n" | S0 (W)
& Dhrect wages [, 1A (XK
Depreciation of factory hmldﬁrg«‘ \ 50 1K)
Insurance: Officer builldings |, o " RO (06
Factory buildings 70 0600
Py Dehvery van expenses o 150 000
qﬁ,,."" Depreciation of office buildings /' 2000 (XH)
v Salanes: Supervisor N (e 120 (00
Office staff * *" 720,000
Light and water: Factory - """ - 22 000
e
Office ~ .. - ' 18000
Advertisement -~ L RO OO0
Sales 5,000 (06
Prepare a coslt statement showing:
(i) Prime cost
() Production cost
(ni)  Total cost of sales
(iv)  Net profit
(12 marks)
(b) The information below was extracted from the books of Pona General Hosprtal for the
year 2015:
Number of beds 1,000
Number of in-patients 16330
Cost break-down: Ksh
Cost ofdmgs 10 050 H0
Medical staff cost 13,600 000
Cost of support services 3,700 D060
Cost of general services 3,900 000
Additonal information:
. Take one year (o be 365 days .
. The hospital’s occupancy rate is B5%. 4
Turn over
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Calculate:

(1) erage le ' \
G (Jzu.mu lenpth of stay in Pona General l-Iuspn.d\ RACRR
- OSUper in-patienmt day for the hospatal, i

\ ﬂ“" nti el Lot!
W s

O N
\‘\_ 7 .'i \ el “.). o N

e (B markay .
ST a1 ' (LSRN .
Wit ey

(@  The following i
owing minformati v . . B} .
B nation relates to the stocks of Kiwanda Linuted, L sy e
Maximum cons i o L bann
sumption ' '
Normal consumption K ) N
M_ . MUlm_\ per week ’\: N oo \
'Mimum consumption L
R 7 3400 units per week . BRI
e-order penod ) A
Re-orde 4.6 wecks - gt
. F QuARd: o
quantity 2000 units AR
o A
Calculate: W\ ¢l ‘ W
v ?L-O"" ) \k’\(“ v f
. - 4 \
(1) Re-order level vooe Y J & "
.. o A ;
(ll) Minimum stock level > NPT N 0 oo KA A
. pn " ol W
(_lll) Maximum stock level ve Ov_c." £v S (o
(1v) Average stock level. Aol RTL RS
‘T, S oot T i
,S - k-\_\ln\.‘l“v‘ (}’n]|k
Q.o s MiThs)
(b) ;}cmee Limited manufactures ornamenis for export. The company allocates iobs
L or (’){mament.s to its three operators; M“i"elu, Kimaru and Charo. In a perod of one
Cost week, the units produced and standard time allowed were are {oilows:
Unit Standard Time taken
produced Time allowed (Hrs) (iirs)
Mwelu 108 30 46
Kimaru 144 25 49
Charo 177 20 55
The basic wage rate is Ksh 240 for the employees. Hours worked in excess of the basic
week hours are paid for at the basic wage rate plus two thirds of the basic wage rate. A
bonus is paid at 30% of the basic wage rate for time saved. A working week has
40 hours.
Y
T i
4 K0 (D) For each employee, calculate:
/

the amount of bonus payable.
to gross wages payable.

120 for the onament produced by Mwelu. Advise

accept the ofter or not.
(12 marks)
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(1) A customer has offered Ksb
management of Gemee Limited on whether to

the
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1a) Moses i3
A il g
ERIULT I TTTTITRY RYSEN o A g g fry Mo Tunant Univeesity to

! ]

(10 marks)

Y ARRLLLLLETN I PR TYTYON MY
» AT et A contiact e ol
2T e it e _ Pove al Rk SO0 f 00 (a6, atarung § Apad 2018,
f\\ \u £ hnmanion o lates 1o the v onbrat l
Ma, WHWTY e 1o v . .
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R 1O ENKT (XKD
Marciata rvissed froen sigy 'Il:i,i?‘ll,(xli
. YLLIN
\ Overteads chaged o ateaty KO (N0 .
'(‘\u*' Y Wk verilicd by an ey a .l,(l)(!,(_)(l.)
‘“.\,..s. "n\h neeivaead : NUNKUK!)
0 (g |
( u"\f‘ \}“]"c tl' \\".“k Nt Vl" l.\‘lhh("l .. l’, Kl‘l
‘ O U0 (XD
Materialy on hnd (11 ey Py
e S 00 (00
Wagen e o
ApeN wecraed (VLY Q000 -
\ V“Iu I‘ l 500 060
': 3y ' 1 W -
ol sichaneay (VA 20 S0 106 (H)
Mrepare
() Contract aceoum
) \ﬂ Contrad tlee icount,
LS
"\rl
®
(b) Zetin Linnted manufactures a Jdomk which pasaes throngeh twa provesses before
L'(’mlph‘twl\ amd transfor to fennbicd poods dtore, The Totlowug sdammtion was
avalable tor March 2016
~ Proces
A u
\u\_.\ #\‘4\ .8 sh h wh
\ v " N
¢ Basie raw materniy (20000 uniy) 10,000
Y O
Dhreet materials idded €0 00 1¥0 00
42 (000 290 (00
DIirect Wigcs S ,
‘ ‘SH.(‘NX) [y ,,'i !"‘
DHregt CAPCNSCS A
2.50

Scrap value perunit
' X for Provess B,
* % Tor Process A and 3% for
| -ess input was at 10
Normal foss in process o
ovs At 79% of direct Wiges.

crheads 18 absorbedn the proc
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epare; a
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(i) Process A ac . q'@"\ N 950;,\9‘ ‘ ] (,¢\<r""
. 33 count, \ Al \ "
((ilili)) Process B account, Y\n ‘&BQ"( Aat® oA wcm’ﬁd\ R “
Normal process loss account/}' v XY 505\ r\un X ot
\ v\fo ¢ C)“‘Q .#_(;:t ; P r,nz.o,‘
6. @  Expi /’T/ L e % 'w“ﬂf‘ w05 (10 marks)
Xplain four benefiis - \ oSt
its that may be derived from cost classification by an organisation.

(¥ marky)

») Kapoo Limn
Imited has two dep;
month of July 2016 is pmvpi‘;:;";l;os vl:n and B. The budgeted and aciual data for the

Dept ;
Pt Direct wages Labour hours Machine hours  Production

Budgeted A 240,600 500 5000 ;\;;geggg
B J
Actual 800,000 4000 2500 3,400 000
g 400,000 2500 5500
700,000 4500 2000

Additional information:

() During the month of J
uly 2016, N )
costs and time (hours) y product Exe was made utilising the following

Department Direct wages Labour hours Machine hours
A 36,000 40 25
B 34,000 35 30

(?) The direct material cost of the job was Ksh 150,000.

Departmental production overheads were absorbed as follows:

(iii)
Department
A Labour hours
B Machine hours
Determine

I The cost of product Exe using a simple factory-wide overhead absorption rate

on Jabour hours.

Cost of product Exe using deparumental overhead absorption rals.
(12 marks)
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v "\
/)\L t\L_O-"hr"‘)

Explai : '
: plain four factor that should be considered before choostng a su
abour remuncrauon,

ahle method for
(X marks)

Fn -~ - . " , A
miture Limited has two production departiments, I and 2 and two service

d o X o
epartments, X and Y. The deparuncnial distribution summary for Junc 2016 period has

the following totals:

> GE‘;SProduction dcpartments: Ksh
geepanmem 1 120000
partment 2 , 80.000

Service departments:

Department X 20,000
Department Y 35,000
The expenscs of the service departments are apportioned on a percentage basis as
follows:
Production department Service department
1 2 X Y
Service department X 40% 20% - 40%
Service department Y 30% 50% ; 20% -

o service departments’

apportionment of the tw
method (up 0

Prepare a staternent showing the
ment using the repeated distributton

expenses 10 the production depart
Ksh 275.2 for department Y).
(12 marks)
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